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F1 & (HE - JE) ONFEUE - ikt F1 & (HE - JFE) ONFEUE - Mkt
Btk A0 | HOR(H23.9() | 4t (H24.2) (1) Bt iR O6) | HUR(H23.9)(H) |4 difR(H24.2) (1)
K 3.53 — — K 3.53 = —
K1 727 7Wh7 42974 [B4-0PU] SH%E0E 2.4~6.0m 1.89 36,700 36,700 K1 [7A770 b7 429 v+ [R-VR) 425 R 2.4~6.0m 1.89 36,700 36,700
K2 [447n=7 [0 A SRLGE 1 %R)18~20t 0.54 10,400 10,400 K2 [pAvn=7[HEh" Axk AL 1 %)18~20t 0.54 10,400 10,400
K3 |u-b e-glwhs AP Ak SRS 1 QOB R 10~12¢ 0.54 11,100 11,100 K3 [n=b n=glvhd " A- b Ak HRLGE 1 RO i 10~12¢ 0.54 11,100 11,100
R 6.91 — — R 6.91 = =
R1 |¥@EfEEE 2.36 13,600 13,600 R1 [¥@EE¥EE 2.36 13,600 13,600
R2 |FEREET 1.49 17,300 16,800 R2 |t BRRR{EER 1.49 17300 16,900 | 16:800 16,900
R3 |FBR{ESEE 1.42 16,900 16,900 R3 |WEREEE R T 1.42 16,900 17,300 | 16,960 16,800
R4 | AR HEER 0.54 18,900 18,700 R4 | A fikiitaAtk 0.54 18,900 18,700
7 89.56 - — Z 89.56 = =
71 [TA7 7 HEAERLE AS IRE(20) 86.56 10,200 10,500 71 |TA77 MRS R AS IREH(20) 86.56 10,200 10,500
7272770305 PK-4 §y)a-bi 2.43 84.7 85.0 72 [7277vhgLA PK-4 4y/a-1 2.43 84.7 85.0
73 |igih 1.2 % 0.47 114.0 110.0 73 |igih 1.2 % 0.47 114.0 110.0
P'(4 iR H24.2) = 1,484.0
P/ (4 % H24.2) = 1,484.0
X{(@ 36700 054 10400 054 11,100)x 3.53
100 ~ 36,700 '~ 100 ~ 10,400 © 100 ~ 11,100/~ 1.89 + 0.54 + 0.54 % {(ﬂ 36,700 054 10400 054 11,100) 3.53
100 ~ 36,700 ' 100 ~ 10,400 ' 100 ~ 11,100/ ~ 1.89 + 0.54 + 0.54
(ﬁ 13,600 149 16800 142 16900 054 18,700) " 6.91
100 ~ 13,600 ' 100 ~ 17,300 ' 100 ~ 16,900 ' 100 ~ 18,900/~ 2.36 + 1.49 + 1.42 + 0.54 (2 IO SHEMY 1A SSIny IOHUY | 1AW SEEE MO | O 1) 00) X 6.91
100 ¥ 13,600 * 100 * 17,366 16,900 | 100 16,980 17,300 236+ 149 + 142 + 054
(ﬁ 10500 243 850 0.47 w) " 89.56
100 ~ 10,200 ' 100 ~ 847 ' 100 ~ 114.0/ " 86.56 + 243 + 0.47 (&ssx 10,500 243 850 047 Xw) . 89.56
100 ~ 10,200 ' 100 ~ 84.7 = 100~ 114.0/ " 86.56 + 2.43 + 0.47

100 —3.53 — 6.91 — 89,56} = 1,521(F1/m2)
+ 100 o /m " 100 —3.53 — 6,91 — 89.56

00 }: 1,521(A/m2)
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Hik HERRIE (%) | HOR(H23.9)(1) | 4 i =(H24.2) (1) itk ARk b (%) | HUR(H23.9)(1) | 44 (H24.2) (1)
K 3.53 — — K 3.53 — —
K1 7277007 429+ B -1 50 2.4~6.0m 1.89 36,700 36,700 K1 |727 7m0 4294 A=V A0 2.4~6.0m 1.89 36,700 36,700
K2 |J4te-75Eh At SRAIGE 1 %K)18~20t 0.54 10,400 10,400 K2 |5 4ve-7 [ A SR 1 %0)18~20t 0.54 10,400 10,400
K3 |n—b"e—Gleps A Pep At RANCGE 1 ROIE R 10~12¢ 0.54 11,100 11,100 K3 |n=b o7 [hs A- " At SRAUCGE 1 JOJEHE 10~12¢ 0.54 11,100 11,100
R 6.91 — — R 6.91 - -
R1 | WiR{EHE 2.36 13,600 13,600 Rl [W@fE¥R 2.36 13,600 13,600
R2 |k 1.49 17,300 16,800 R2 |[HEEET 457 1.49 17,300 16,900 | 16,800 16,900
R3 |ReAIEEE 1.42 16,900 16,900 R3 |Hpfeden wp 1.42 16,900 17,300 | 16,900 16,800
R4 A etbang 0.54 18,900 18,700 R4 | A iase 0.54 18,900 18,700
7, 89.56 - — 7 89.56 - =
_ 9,700 9.700
Z1 |77 VMR YRR AS IR E4(20) 86.56 10,200 (FAH R As20) Z1  |TA7IVNEGWIERLEE AS RE4(20) 86.56 10,200 (EAHRRIE As20)
22 1AM A PR-4 fy7a-ti 2:43 847 85.0 72 |7A77M LAl PK-4 §y)a-1 2.43 84.7 85.0
73 |EW12% 050 1AL 100 73 Wi 1.2 % 047 114.0 110.0
P'(4 12 H24.2) = 1,484.0 P' (4 /2 H24.2) = 1,484.0
{(ﬂ , 36700 054 10400 054 11,100) L 358 N {(ﬂ 36700 054 10400 054 w) L 383
100 ~ 36,700 © 100 ~ 10,400 ~ 100 ~ 11,100/ " 1.89 + 0.54 + 0.54 100 ~ 36,700 © 100 = 10,400 * 100 = 11,100/ " 1.89 + 0.54 +0.54
236 13,600 149 16800 142 16900 054 18,700 691 (ﬁ I, D68 SOOI | 17 SO, O 18'700) . R
(m 13,600 " 100 X 17,300 T 100 16900 T 100 18’900) X 36T 149 F 1427054 100 ~ 13,600 * 100  17%30606 16,900 ' 100 ~ 6,900 17,300 18,900/ * 2.36 + 1.49 + 1.42 + 0.54
(86.56 9,700 243 850 047 110.0) 89.56 (@x /700 R2:43 74850 wxw) SO 69,56 H—
+ (== x e I x———— 100 10,200 ' 100 847 ' 100 ~ 114.0) " 86.56 + 2.43 + 0.47
100 ~ 10,200 847 100 1140/~ 86.56 + 243 + 0.47

. 100 —3.53 — 6.91 —89.5
100

} =1,420(FM/m2)

+ 100 —3.53 — 6.91 — 89.56

0o }: 1,420(M/m2)
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P' (4 112 H24.2) = 1,979.0 P' (%4 12 H24.2) = 1,979.0
1496 17,500 131 1,560 16.27 {(14-96 17500 131 1,560) 16.27
{( 700 17,500 ' 100 * 1,560) 14.96 + 1.31 100 ~ 17,500 100 ~ 1,560/~ 14.96 + 1.31
(12,89 18700 1182 16800 1152 16900 930 11600) (12.39 18700 1182 16800 1152 16900 930 13,600)
100 <1800 " 100 <17.300 T 100 X 16900 ¥ 100 X 13,600 100 18,900 ' 100 17,300 ' 100 16,900 ' 100 . 13,600
x 1553 + (31'99 x 32,600, 622 110'0) X 1289+ 11 :zsisu 52+ 9.30 (3116?)9 x 123.;:: ?(?Z ﬂi'g)
12.89+11.82+ 1152 +9.30 ' \ 100 . 63,263 ' 100  114.0. : : - : , g

" 38.20
31.99 + 6.22

100 —16.27 — 45.53 — 38. 20]
100

=2,177(M/m2)

. 38.20
31.99 + 6.22

100 —16.27 — 45.53 — 38. 201
100

= 2,477 2,159(H /m2)
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i el IE
x4 RE (BiE - BER) ORIRHRE - Bk FA Kk (HE - BIFE) ONEBK - M
ks @) | dn (H23.9(1) 7R (H24.2) (1) Bk ML) | AU (H23.9)(M) 4t (H24.2) (M)
K 3.53 = = K 3.53 = =
K1 [7277W b7 4=y M-V R 4508 2.4~6.0m 1.89 36,700 36,700 K1 V[T 4405 2.4~6.0m 1.89 36,700 36,700
K2 |541n-30Hk0 A 3R G 1 )18~20t 0.54 10,400 10,400 K2 Mw”'j-?[%?t ARTAE R %Z@(]S%Ot)] 0.54 10,400 10,400
=} =7y b HEA ARFREL G 1 0] Ka |2 P leny A BERT ARG 1 % 0.54 11,100 11,100
K3 || 10t 0.54 11,100 11,100 PR 10~12t ! 5 5
R 6.91 = = R 6.91 =
R1 |MH@fE¥EA 2.36 13,600 16,320 (13,600 < 1.2) R1 [¥@EfE¥ER 2.36 13,600 16,320 (13,600 % 1.2)
R2 |fifkiEssT 1.49 17,300 20,160 (16,800 X 1.2) R2 |mmemir mrzR 1.49 17.300 16,900 m-mjﬁ
R3 |REIEEA 1.42 16,900 20,280 (16,900 X 1.2) . -
- N T 20,280-16,900x1-2)
RA_| 1A Alitan s 0,54 18,900 22,440 (18,700 1.2) R3 RSN MoREET 142 6:900 17300 | 50,160 (16.:800% 1.2
4 GEVED - - R4 | A AelbaEk 0.54 18,900 22,440 (18,700 X 1.2)
Z1 7277V NEA W ERUE AS A (20) 86.56 10,200 10,500 7 39.56 — —
iy N ) el b 243 B 8570 21|72 A ERLE AS RA(20) 86.56 10,200 10,500
Z_liilag 041 o 100 22|77 LA PK-4 17054 2.43 84.7 55.0
73 | 1.2 5 0.47 114.0 110.0
P' (4 2 H24.2) = 1,484.0
P'(4 72 H24.2) = 1,484.0
{(139 36,700 0.54 10,400 0.54 11,100) « 3.53
100 36,700 ' 100 < 10,400 | 100 < 11,100/ * 1.89 + 0.54 + 0.54 M {(ﬂ 99 6IZ.009m0:5 A1 0;£0 O O:S 1 _11'100) e |
100 36,700 ' 100 < 10,400 ' 100 * 11,100/ * 1.89 + 0.54 + 054
236 16,320 149 20,160 142 20,280 054 22,440 691
(WX 13,600 ' 100 < 17,300 T 100 < 16900 100 < 18,900)XZ.36+ 149+ 142 + 054 (ﬁxMJrﬂxmwzso ﬁxzo,-zsezo,moJro._wa)xL
100 13,600 = 100 17%30016,900 100  16;90017,300 100 18,900 236 + 1.49 + 1.42 + 0.54
86.56 10,500 2.43 85.0 0.47 110.0 89.56
(100 * 10,200 " 100 * 847 T 100 1140) X 86.56 + 243 1 047 (85-56 10;500)752:43 9850047, 110-0) % 89:56
’ 100 ~ 10,200 '~ 100 847 ' 100 114.0) 8656 + 2.43 + 0.47
Ve
|j<] s 100353691 -8956

100

] =1,541(f9/m2)

N 100 —3.53 — 6.91 — 89.56

00 }: 1,541(9/m2)
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ik HERE(%) | U (H23.9)(1) | 44 dr 2 (H24.2) (1) HirE MR (%) | O (H28.9) (1) |4 dE(H24.2) (1)

3.53 = = 3.53 = =

K1 [72770b7 429y -V R 4508 2.4~6.0m 1.89 36,700 36,700 K1 [73770b7 4=y [i4-0 B il 2.4~6.0m 1.89 36,700 36,700

K2 [Jre=7 [0 A HERLGEE 1 %)18~20t 0.54 10,400 10,400 K2 [p4re=7 08k 2t 5B GE 1 %)18~20¢ 0.54 10,400 10,400

K3 [n-b n=jlzhg A R0 ARERELGE 1 ROVE i 10~12¢ 0.54 11,100 11,100 K3 [n=p n=7[ehs A HEn" Ab R GE 1 SO1ET fk 10~12¢ 0.54 11,100 11,100
6.91 = — 6.91 - -

R1 [H@EfEHR 2.36 13,600 13,600 Rl |¥iEfE¥E 2.36 13,600 13,600

R2 |FfkiElinT 1.49 17,300 16,800 R2 |Fskiiiss  FHIEER 1.49 17300 16,900 | 16:800 16,900

R3 [FRIEHR 1.42 16,900 16,900 R3 |4l ARG T 1.42 16,900 17,300 | 16,900 16,800

R4 [ AR fRiFRE 0.54 18,900 18,700 R4 | bA—iiEFES 0.54 18,900 18,700
89.56 = - 89.56 = =

Z1 |77 HEEMERLE AS IRE(20) 86.56 10,200 10,500 71 [T MRS ERLE AS R4 (20) 36.56 10,200 10,500

72 |7A77vhELA PK-4 4y7a-1H 2.43 84.7 85.0 72 7377 EL7 PK-4 4y/a-i 2.43 84.7 85.0

73 | 1.2 & 0.47 114.0 110.0 73 | 1.2 = 0.47 114.0 110.0




